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Points to Keep in Mind to Solve Profit and Loss with No Formula Technique:
बिना किसी फॉर्मलूा तिनीि िे लाभ और हानन िो हल िरने िे ललए ध्यान रखने योग्य 
िातें:

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E02349

A man bought an old typewriter for ₹1200 and spent ₹200 on its repair. He sold 
it for ₹1680. His profit per cent is:
एि आदर्ी ने एि पुराना टाइपराइटर ₹1200 र्ें खरीदा और उसिी र्रम्र्त पर ₹200 खर् ू
किए। उसने इसे ₹1680 र्ें िेर् ददया। उसिा लाभ प्रनतशत है:
(1) 20%          (2) 10%               (3) 8%               (4) 16%
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If the cost price is 83.33% of the selling price, what is the profit percent ?
यदद क्रय र्मल्य विक्रय र्मल्य िा 83.33% है, तो लाभ प्रनतशत क्या है?
(1) 20%                   (2) 16.67%                    (3) 25%                (4) 5.26%
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A merchant buys an article for ₹27 and sells it at a profit of 10% of the selling 
price. The selling price of the article is:
एि व्यापारी एि िस्त ुिो ₹27 र्ें खरीदता है और उसे विक्रय र्मल्य िे 10% िे लाभ पर 
िेर्ता है। िस्त ुिा विक्रय र्मल्य है:
(1) ₹29.70             (2) ₹30                 (3) ₹37                  (4) ₹3
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If there is a profit of 20% on the cost price of an article, the percentage of 
profit calculated on its selling price will be:
यदद किसी िस्त ुिे क्रय र्मल्य पर 20% िा लाभ होता है, तो उसिे विक्रय र्मल्य पर 
पररिललत लाभ िा प्रनतशत होगा:
(1) 24           (2) 𝟏𝟔

𝟐

𝟑
(3) 𝟖

𝟏

𝟑
(4) 20
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A man purchased a bedsheet for ₹450 and sold it at a gain of 10% calculated 
on the selling price. The selling price of the bedsheet was: 
एि व्यक्क्त ने ₹450 र्ें एि िेडशीट खरीदी और उसे विक्रय र्मल्य पर गणना किए गए 10% 
िे लाभ पर िेर् ददया। िेडशीट िा विक्रय र्मल्य था:
(1) ₹ 460         (2) ₹475           (3) ₹480            (4) ₹500
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By selling 33 metres of cloth, a person gains the cost of 11 metres. Find his 
gain%.
33 र्ीटर िपडा िेर्ने पर एि व्यक्क्त िो 11 र्ीटर िी लागत िा लाभ होता है। उसिा 
लाभ% ज्ञात िीक्िए।
(1) 𝟑𝟑

𝟏

𝟑
% (2) 𝟑𝟑

𝟏

𝟑
% (3) 33%                   (4) 𝟑𝟒

𝟏

𝟑
%

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E02349

The cost price of a radio is ₹600. The 5% of the cost price is charged towards 
transportation. After adding that, if the net profit to be made is 15%, then the 
selling price of the radio must be:
एि रेडडयो िा क्रय र्मल्य ₹600 है। लागत र्मल्य िा 5% पररिहन िे ललए ललया िाता है। 
इसे िोडने िे िाद, यदद शुद्ध लाभ 15% है, तो रेडडयो िा विक्रय र्मल्य होना र्ादहए:
(1) ₹704.50          (2) ₹724.50             (3) ₹664.50              (4) ₹684.5
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If books bought at prices from ₹150 to ₹300 are sold at prices ranging from 
₹250 to ₹350, what is the greatest possible profit that might be made in selling 
15 books ?
यदद ₹150 से ₹300 ति िी िीर्तों पर खरीदी गई पुस्तिों िो ₹250 से ₹350 िे िीर् िी 
िीर्तों पर िेर्ा िाता है, तो 15 पुस्तिों िो िेर्ने पर अधधितर् संभावित लाभ क्या होगा?
(1) Cannot be determined        (2) ₹750          (3) ₹4,250        (4) ₹3,000
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At what per cent above the cost price, must a shop–keeper marks his goods 
so that he gains 20% even after giving a discount of 10% on the marked price 
?
एि दिुानदार िो अपने र्ाल पर क्रय र्मल्य से कितने प्रनतशत अधधि अंकित िरना र्ादहए 
कि अंकित र्मल्य पर 10% िी छम ट देने िे िाद भी उसे 20% िा लाभ हो?
(1) 25%                 (2) 30%               (3) 33.33%                  (4) 37.5%
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Nisha bought a number of oranges at 2 for a rupee and an equal number at 3 
for a rupee. To make a profit of 20% she should sell a dozen for:
ननशा ने िई संतरे एि रुपये र्ें 2 और इतने ही संतरे एि रुपये र्ें 3 पर खरीदे। 20% िा 
लाभ िर्ाने िे ललए उसे एि दिनू िो िेर्ना र्ादहए:
(1) ₹6              (2) ₹8              (3) ₹10               (4) ₹12
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Pooja wants to sell a watch at a profit of 20%. She bought it at 10% less and  
sold it at 30 less, but still she gained 20%. The cost price of watch is:
पमिा 20% िे लाभ पर एि घडी िेर्ना र्ाहती है। उसने इसे 10% िर् पर खरीदा और इसे 
30 िर् पर िेर्ा, लेकिन कफर भी उसे 20% िा लाभ हुआ। घडी िा क्रय र्मल्य है:
(1) ₹240               (2) ₹220               (3) ₹250                 (4) ₹225
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A dishonest grocer sells rice at a profit of 10% and also uses weights which are 
20% less than the marked weight. The total gain earned by him will be: 
एि िेईर्ान पंसारी 10% िे लाभ पर र्ािल िेर्ता है और ऐसे िाटों िा भी उपयोग िरता 
है िो अंकित ििन से 20% िर् हैं। उसिे द्िारा अक्ितू िुल लाभ होगा:
(1) 37.5%              (2) 40%                  (3) 30.5%                  (4) 35%
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A fruit merchant makes a profit of 25% by selling mangoes at a certain price. 
If he charges ₹1 more on each mango, he would gain 50%. At first the price of 
one mango was:
एि फल व्यापारी एि ननक्चर्त िीर्त पर आर् िेर्िर 25% िा लाभ िर्ाता है। यदद िह 
प्रत्येि आर् पर ₹1 अधधि शुल्ि लेता है, तो उसे 50% िा लाभ होगा। पहले एि आर् िा 
र्मल्य था:
(1) ₹5                (2) ₹7               (3) ₹4                 (4) ₹6
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By selling an article for ₹450, I lose 20%. For what price should I sell it to gain 
20% ?
एि िस्त ुिो ₹450 र्ें िेर्ने पर र्ुझ े20% िी हानन होती है। 20% िा लाभ प्राप्त िरने िे 
ललए र्ुझ ेइसे किस िीर्त पर िेर्ना र्ादहए?
(1) ₹490            (2) ₹675             (3) ₹470              (4) ₹562.50
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A man gains 20% by selling an article for a certain price. If he sells it at double 
the price, the percentage of profit will be:
एि िस्त ुिो एि ननक्चर्त र्मल्य पर िेर्ने पर एि व्यक्क्त िो 20% िा लाभ होता है। यदद 
िह इसे दगुने र्मल्य पर िेर्ता है, तो लाभ िा प्रनतशत होगा:
(1) 40%            (2) 100%        (3) 120%             (4) 140%
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A trader sold a cycle at a loss of 10%. If the selling price had been increased 
by ₹200, there would have been a gain of 6%. The cost price of the cycle is:
एि व्यापारी ने एि साइकिल िो 10% िी हानन पर िेर्ा। यदद विक्रय र्मल्य र्ें ₹200 िी 
िदृ्धध िी िाती, तो 6% िा लाभ होता। साइकिल िा लागत र्मल्य है:
(1) ₹1200           (2) ₹1205          (3) ₹1250              (4) ₹1275
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By selling a tape-recorder for ₹1040 a man gains 4%. If he sells it for ₹950, his 
loss will be:
एि टेप-ररिॉडरू िो ₹1040 र्ें िेर्ने पर एि व्यक्क्त िो 4% िा लाभ होता है। यदद िह इसे 
₹950 र्ें िेर्ता है, तो उसिी हानन होगी:
(1) 5%                (2) 4%                 (3) 4.5%               (4) 9
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Next Class Topic

(SAT – 17 July)

Solve Simple Interest

With No Formula

Technique
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While selling to the retailer, a company allows 30% discount on the
marked price of their products. If the retailer sells those products at marked 
price, his profit% will be :
खदुरा विके्रता िो िेर्त ेसर्य, एि िंपनी अपने उत्पादों िे अंकित र्मल्य पर 30% िी छम ट 
देती है। यदद फुटिर विके्रता उन उत्पादों िो अंकित र्मल्य पर िेर्ता है, तो उसिा लाभ% 
होगा:
(1) 30%             (2) 𝟒𝟐

𝟏

𝟕
% (3) 40%                (4) 𝟒𝟐

𝟔

𝟕
%
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